Rei = 33 k2 Rp = 2 ke CS = J'F
Ree = .§ M= R. = g k2 CLs 2 nF
f‘d = (oo lesL C

Yo Yo Vy Rp? (377 RL Re ¥ Ryy
vi 8§ T = - Zm . Tt + R
= . lLeby «R 270.5 kR
/34 m$ )

Jos ke & 20 kR

2]

{
o~
W
o~

0.9} = ~$.3

Z.Ls (Ro/f‘&-fn,.).ct_ =
'rl- z 189. ‘ H=z

Ts = (IZ,// VQM)-CS o

(s s ?3;. \ +'2

b - 274 + 89.6 + P = 9so Mz



L L
v %T%;, %Q‘. T W T %

!
Co = Cgd - ((-A) <
= 1.2 pF - (1 ~ [—63‘))
= 8.83 pF
Tiw =

z (Cn‘fgs)" (re‘t//ﬂﬁp//rzi) =
4,: “6 K2

2.4« 10’7 S

Cy = Cgd C(-i) = l.33 pF
] B "3
Cout = CCm + G ) > (rz,//ra//f?a.) = 3.62s10 s
four = 45 hHz
-3 ) -?r
Ttotal = 24 x S + 383 10 s = 243 xW
Ioj(lAU
\
?l-o*u' : -

2T Tptal  ° bso Hz

wasmann hao
cte 20 LM,

»

Sﬁ’ Hz bso ki

Ioa(C)
g o

log (€)



